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1-10 90 80 70 60 50 40 30 20 10 0

1. 381.48

2. >

3. 3

4. 48 + 32m

5. B

6. 72 cm2

7. 32 cm2

8. 9,072

9. none

10. (-10,-10) 3

April 9-13

Monday
1) 74 .8

× 5 .1
381 .48

2) Use > , < or = to compare.
-22 > -55

3) Find the greatest common factor of:
33 & 6

4) Apply the distributive property to
produce an equivalent expression to:
8(6 + 4m)

5) Which choice best represents:
Find 9 less than B
A. 9 - B
B. B - 9

6) Find the surface area.

6
2

3

7) Find the surface area.

3

2
2

8) (8+6+5×98÷5)×9×9  =
(8+6+490÷5)×9×9

(8+6+98)×9×9
(14+98)×9×9

112×9×9
1008×9

9072

9) Which choice(s) best shows the value
of 'e' (or none).

8 < 2e - 10
A. 6
B. 9
C. 8
D. 2

10) On a grid, starting at (0,0) if you were to go 10 units left and 10 units down what
coordinates would you end up at? What quadrant would you be in?
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1. 673.568

2. >

3. 3

4. 30h + 90

5. A

6. 126.7 cm2

7. 40 cm2

8. 0

9. none

10. (7,-6) 4

April 9-13

Tuesday
1) 86 .8

× 7 .76
673 .568

2) Use > , < or = to compare.
|-23| > -98

3) Find the greatest common factor of:
15 & 42

4) Apply the distributive property to
produce an equivalent expression to:
10(3h + 9)

5) Which choice best represents:
Divide 11 by M
A. 11 ÷ M
B. M ÷ 11

6) Find the surface area.

7
4

7
6.1

7) Find the surface area.

2

4

2

8) 5×14÷7+(1-7-3-1)  =
5×14÷7+(-6-3-1)
5×14÷7+(-9-1)
5×14÷7+(-10)
5×14÷7+-10

70÷7+-10
10+-10

0

9) Which choice(s) best shows the value
of 'e' (or none).

4e + 7 > 49
A. 6
B. 10
C. 6
D. 8

10) On a grid, starting at (0,0) if you were to go 6 units down and 7 units right what
coordinates would you end up at? What quadrant would you be in?
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1. 273.644

2. >

3. 6

4. 4r

5. A

6. 103.2 cm2

7. 136 cm2

8. 1,431

9. B,C,D

10. (-3,8) 2

April 9-13

Wednesday
1) 94 .36

× 2.9
273 .644

2) Use > , < or = to compare.
-16 > -97

3) Find the greatest common factor of:
30 & 24

4) Apply the distributive property to
produce an equivalent expression to:
r + r + r + r

5) Which choice best represents:
Multiply 8 by V
A. 8 × V
B. V × 8

6) Find the surface area.

6
4

6
5.2

7) Find the surface area.

8
3

4

8) 9×(9×6-3+5-3)×3  =
9×(54-3+5-3)×3
9×(51+5-3)×3

9×(56-3)×3
9×53×3
477×3
1431

9) Which choice(s) best shows the value
of 'e' (or none).

8e + 10 > 49
A. 3
B. 9
C. 5
D. 6

10) On a grid, starting at (0,0) if you were to go 3 units left and 8 units up what
coordinates would you end up at? What quadrant would you be in?
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1. 50.4339

2. <

3. 1

4. 8(5e + 2)

5. A

6. 104 cm2

7. 151.2 cm2

8. 248

9. B,C

10. (6,-5) 4

April 9-13

Thursday
1) 8 .99

× 5.61
50 .4339

2) Use > , < or = to compare.
53 < 92

3) Find the greatest common factor of:
20 & 3

4) Apply the distributive property to
produce an equivalent expression to:
40e + 16

5) Which choice best represents:
Divide 20 by T
A. 20 ÷ T
B. T ÷ 20

6) Find the surface area.

5
26

7) Find the surface area.

8
4

8
6.9

8) 9+9×6+9-2×(8-96)  =
9+9×6+9-2×(-88)
9+9×6+9-2×-88
9+54+9-2×-88
9+54+9+176

63+9+176
72+176

248

9) Which choice(s) best shows the value
of 'e' (or none).

6 × e > 38
A. 2
B. 9
C. 7
D. 3

10) On a grid, starting at (0,0) if you were to go 6 units right and 5 units down what
coordinates would you end up at? What quadrant would you be in?
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1. 329.7000

2. >

3. 6

4. 6w

5. B

6. 24 cm2

7. 72 cm2

8. 135

9. B,C,D

10. (1,-3) 4

April 9-13

Friday
1 ) 35 .00

× 9.42
329 .7000

2) Use > , < or = to compare.
|-99| > |12|

3) Find the greatest common factor of:
42 & 24

4) Apply the distributive property to
produce an equivalent expression to:
w + w + w + w + w + w

5) Which choice best represents:
Find R times as much as 13
A. R × 13
B. 13 × R

6) Find the surface area.

2

2

2

7) Find the surface area.

8
2

2

8) 80÷1+(8-4)+8×6+3  =
80÷1+4+8×6+3

80+4+8×6+3
80+4+48+3

84+48+3
132+3

135

9) Which choice(s) best shows the value
of 'e' (or none).

20 < 7e - 6
A. 1
B. 5
C. 6
D. 5

10) On a grid, starting at (0,0) if you were to go 3 units down and 1 unit right what
coordinates would you end up at? What quadrant would you be in?


